

$$(1 + 1) \cdot 2 =$$

$$(123 - 89) \cdot 0 + 4 =$$

$$(10 + 5) : 3 =$$

$$15 + (10 + 5) : 3 =$$

$$(10 - 2) \cdot 3 =$$

$$(22 + 2) : 2 + 22 =$$

$$3 \cdot 4 : (1 + 2) =$$

$$30 - (10 + 5) : 5 =$$

$$(3 \cdot 3 + 3) : 3 =$$

$$(20 + 5) : 5 + 5 \cdot 2 =$$

$$15 - (10 - 3) =$$

$$((2 + 2) \cdot 2 + 2) : 2 =$$

$$5 \cdot 6 : (8 - 5) =$$

$$(2 + 2 \cdot 2) : 2 + 2 \cdot 2 =$$

$$4 + (6 + 10) : 4 =$$

$$(25 + 5) : (10 - 5) =$$

$$(60 : 5) \cdot 0 + 4 =$$

$$(11 + 1) : (1 + 1) - 1 =$$

$$(9 + 5) - (3 + 2) =$$

$$(100 + 10) : 10 + 10 =$$

$$(3 + 2) \cdot (3 - 2) =$$

$$2 \cdot (22 + 2) : (2 + 2) =$$

$$10 + (6 + 4) : 2 =$$

$$(123 - 21) \cdot 0 + 12 : 3 =$$

$$33 - (3 \cdot 3 - 3) =$$

$$(87 - 86) \cdot (91 - 89) =$$

$$(1 + 2) \cdot (3 + 4) =$$

$$(1 + 2 + 3) \cdot ((1 + 3) : 2) =$$

